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Special Question - Logical Reasoning English

Direction 1 - 5 : Study the following information
carefully and answer the given questions.

Eight friends Lalit, Mia, Nibha, Onkar, Parul,

Qasim, Ronny, and Satya are sitting around a
square table. Four of them sit in corners while four
of them sit in the middle of each side of the table.
The ones who sit in the corners face outside while
those who sit in the middle of the sides face the
center.

a. Only one person sits between Qasim and Lalit.
Lalit sits in the middle of one of the sides.

b. Onkar sits to the immediate right of Qasim.

c. Both Ronny and Satya are immediate neighbors
of Lalit.

d. Mia sits second to the left of Nibha.

e. Nibha is neither an immediate neighbor of
Qasim nor Satya.

Q:1 What is the position of Parul with respect to
Satya?

1. Fourth to the left

2. Fifth to the left

3. Second to the right

4. Third to the right

B. Third to the left

Q:2 Which of the following is true regarding Parul?
1. Parul sits exactly between Mia and Nibha

2. Onkar sits second to right of Parul

3. All are correct

4. Lalit sits third to the left of Parul

5. Qasim sits third to the right of Parul

Q:3 How many people sit between Mia and Satya
when counted from the right side of Satya?

1. One
2. Three
3. None
4. Two
5. Four

Q:4 Who sits third to the left of Qasim?
1. Mia

2. Satya

3. Ronny

4. Nibha

5. Parul
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Q:5 Four of the following five are alike in a certain
way and so form a group. Which is the one that
does not belong to that group?

1. Ronny
2. Satya
3. Onkar
4. Parul

5. Nibha
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IAnswer Key Cose2.)
2. Lalit sits in the middle of one of the sides.
h. (1) k2. (3) 13. (5) l4. (3) 5. (5) | 3. Onkar sits to the immediate right of Qasim.

IAnswers and Solutions

Q:1 The correct answer is Option 1i.e Fourth to the
left

1. Only one person sits between Qasim and
Lalit. (Here, we have two cases i.e. Casel and

Cqse.2_). . . . 4. Both Ronny and Satya are immediate neighbors
2. Lalit sits in the middle of one of the sides. of Lalit.

3. Onkar sits to the immediate right of Qasim. Hence. Case-2 is eliminated

5. Mia sits second to left of Nibha.

6. Nibha is neither an immediate neighbor of
Qasim nor Satya.

4. Both Ronny and Satya are immediate neighbors
of Lalit.

Hence, Case-2 is eliminated
5. Mia sits second to the left of Nibha.

6. Nibha is neither an immediate neighbor of
Qasim nor Satya.

Parul will sit at the corner between Nibha and Mia.
All the statements regarding Parul are correct.
Hence, the correct answer is All are correct.

Q:3 The correct answer is Option b5 i.e Four

1. Only one person sits between Qasim and
Lalit. (Here, we have two cases i.e. Casel and
CoseQ.)

2. Lalit sits in the middle of one of the sides.
3. Onkar sits to the immediate right of Qasim.

Parul will sit at the corner between Nibha and Mia.

Hence, the Position of Parul is fourth to the left of
Satya.

Q:2 The correct answer is Option 3 i.e All are
correct

1. Only one person sits between Qasim and

Lalit. (Here, we have two cases i.e. Casel and . - .
( ’ 4. Both Ronny and Satya are immediate neighbors
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of Lalit.
Hence, Case-2 is eliminated
5. Mia sits second to the left of Nibha.

6. Nibha is neither an immediate neighbor of
Qasim nor Satya.

Parul will sit at the corner between Nibha and Mia.
Ronny sits third to the left of Qasim.
Hence, the correct answer is Ronny.

Q:5 The correct answer is Option 5 i.e Nibha

Parul will sit at the corner between Nibha and Mia. 1. Only one person sits between Qasim and Lalit.
Four people sit between Mia and Satya when (Here, we have two cases i.e. Casel and Case2.)
counted from the right side of Satya. 2. Lalit sits in the middle of one of the sides.
Hence, the correct answer is Four. 3. Onkar sits to the immediate right of Qasim.

Q:4 The correct answer is Option 3 i.e Ronny

1. Only one person sits between Qasim and Lalit.
(Here, we have two cases i.e. Casel and Cosez.)
2. Lalit sits in the middle of one of the sides.

3. Onkar sits to the immediate right of Qasim.

4. Both Ronny and Satya are immediate neighbors
of Lalit.

Hence, Case-2 is eliminated
5. Mia sits second to the left of Nibha.

6. Nibha is neither an immediate neighbor of
Qasim nor Satya.

4. Both Ronny and Satya are immediate neighbors
of Lalit.

Hence, Case-2 is eliminated
5. Mia sits second to the left of Nibha.

6. Nibha is neither an immediate neighbor of
Qasim nor Satya.
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Parul will sit at the corner between Nibha and Mia.

All except Nibha are sitting in the corner.
Hence, the correct answer is Nibha.
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